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rite in ggip‘nt-slge form the equatior of the line that is [parallelto o the given line and passes through

given our final answer should be in s!ggﬂtercogt form.
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Write in slope-intercept form the equation of the line that is [parallel|to the line in the graph andpassos through
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Write in slope-intercept form the equation of the line that is the line in the graph and passes through
g ° given point. Graph the new line. Z.
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10. What is the slope-intercept form of the equation of the line to the line in the graph that passes
through the point (-1, 1)? After completing the work, circle your final answer and graph it QN the grid.
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Use point-siope form to write an equation in slope-intercept form of the line that is to the given line
and passes through the given point.
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Write in slope-intercept form the equatlon of the line that is to the line in the graph and passes
through the given polnt.
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